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Serin-protease inhibitor prevents renal dysfunction after ischemia-reperfusion
injury

Kawakubo, Eisuke
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Ischemia-Reperfusion injury (IRI) after revascularization for acute limb
ischemia often causes severe systemic organ damage, e.g. acute respiratory failure, acute renal
dysfunction and compartment syndrome. Pathology of IRl is related with reactive oxygen species,
oxidative stress, and activation of white blood cells. We tried to reveal Nafamostat mesylate (NM)
prevents the organ damages after IRI.

In this study, we estimated mouse limb ischemia and reperfusion model. Then, in 3 groups: sham
operation group, ischemia and reperfusion group (IM), and IM with NM administration group (IR+NM),
we measured  serous chemistry. The result is that AST and ALT significantly improved by NM
administration. Whereas, BUN, serous creatinine, creatinine kinase and serous potassium did not
significantly change between IR group and IR+NM group. This result suggested that NM inhibit lever
ﬂ%sfunction after IRl. This is the basic of further study to reveal the effect of IRl depression of
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% :p<0.05versus I/R group, 1= N.S. versus I/R group






